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) —. 9% Based on (he concept of thermodynamics, discuss the cnthalpy change ( AH),

4.

. 9%

. 8%

. 8%

8%

cntropy change (AS), and frec energy change (AG) alter (he biodegradation of
organic compounds.

Explain why (he caustic soda waler softening process generates less chemical
sludge than the lime-soda ash water softening process.

Explain why the microorganisms found in the aeration tanks of the activated
sludge system are negatively charged.

Calculate the pH of a buffer solution containing 0.01 M acetic acid a nd 0.02 M
sodium acetate: Then calculate the pH after enough NaOH is added (o give a
concentration of 0.001 M. (Given: pK,'s value of acetic acid = 4.74)

Which of the following acids can be used for the titration of alkalinity to methyl
orange end point (pH =4.2). What criterion determines their use?

Acid pK,
NH," 9.3
H,CO;’ 6.3
HCI -3.0
H,PO, 1.96

7. 8% What arc the common primary standards that can be used for standardizing (1)

acids, (2) bases, (3) reducing agents, and (4) oxidizing agents?




